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MODEL TEST ONE ?

Model Test One

Part I Listening Comprehension (20 minutes)

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be
asked about what was said. Both the conversation and the question will be spoken only once. After each question
there will be a pause. During the pause, you must read the four choices marked A, B, C and D, and decide which
is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
Example: You will hear:
You will read:
A. 2 hours.
B. 3 hours.
C. 4 hours.
D. 5 hours.
From the conversation we know that the two are talking about some work they will start at 9 o’ clock in the morn-
ing and have to finish at 2 in the afternoon. Therefore, “D. 5 hours” is the correct answer. You should choose [D]
on the Answer Sheet and mark it with a single line through the centre.
Sample Answer [A] [B] [C] H]
. He ran a red light. B. He was speeding.
. He went through a stop sign. D. He turned a comer too fast.
. She’1l give the man a new prescription right away.
She’ 1l be away from the office for two days.
The man doesn’t need anything for his cough.
. The man should continue using the medicine.”
. She will go away.
She will not want a gift.
She will be sorry.
She won’t quit her job.
6,400 kilometers. B. 2,168 kilometers.
3,268 kilometers. D. 2,186 kilometers.
He already has plans for Saturday night.
The woman should decide where to eat Saturday.
The woman should ask her brother for a suggestion.
. He will make a reservation at the restaurant.
. Call a repair person soon.
Ask the man to fix her refrigerator.
Find a book on how to make repairs.
. Wait to see if the problem disappears.
. Reading. B. Smoking.
Sweeping. D. Studying.

>0 >0 0PFUOFFOFTOTFEITO® 0>

. Move the plants away from the window.
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B. Water the plants more often.
C. Put the plants in a place where there is more sunlight.
D. Let her take care of the plants for a while.
A. Student—Professor. B. Customer—Shop assistant.
C. Customer—Watch-maker. D. Client—Lawyer.
10. A. The woman doesn’t lend books to people.
B. The man is too embarrassed to borrow a book from the woman.
C. The woman is satisfied that the book has been returned.
D. The man can’t find the book he borrowed from the woman.
Section B
Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear some ques-
tions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the
best answer from the four choices marked A, B, C and D. Then mark the corresponding letter on the Answer Sheet
with a single line through the centre.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A. Power. B. Academic degree.
C. Wealth. D. The change of life-style.
12. A. The change of life-style.
B. The change of the nature of occupations.
C. The increase of social wealth.
D. The increase of job opportunities.
13. A. Politicians. B. Clerks.
C. Manual workers. D. Lawyers.
Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A. Donating one of one’s kidneys to a relative.
B. Donating one of one’s kidneys to a friend.
C. Donating one of one’s kidneys to one’s best friend.
D. Donating one of one’s kidneys to a stranger.
15. A. That it is acceptable whether the donor is a relative or a strange to the patient.
B. That it is acceptable only when the donor is a relative to the patient.
C. That it should be strictly controlled.
D. That it should be encouraged.
16. A. Improve their facilities.
B. Alter their ideas about donors.
C. Carry out more surveys among physicians and non-physicians.
D. Advertise for more donors.
Passage
Questions 17 to 20 are based on the passage you have just heard.
17. A. One dollar. B. Ten dollars.

C. From one to ten dollars. D. A million dollars.

18. A. Many people envy them.
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Their lives do not change after winning the lottery.
They find negative factors after winning the lottery.
. They do not want to give the money back.

19. A. They have lost their privacy.

. They are harassed by letters and phone calls of strangers asking for money.
. Many of them experience long periods of depression.

. Many members of their family have been kidnapped.

. All of them. B. Most of them.

. Half of them. D. Seven of them.

20.

OFPUOW>UOW

Part I Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or unfinished statements.
For each of them there are four choices marked A, B, C and D. You should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a single line through the centre.

Questions 21 to 25 are based on the following passage:

We are incredibly heedless (AN {ERY) in the formation of our beliefs, but find ourselves filled with a fervent
(585 [ ) passion for them when anyone challenges or questions them. Obviously, it is not that the ideas themselves
are dear to us, but rather that our self-esteem is threatened. We are by nature stubbornly pledged to defend our own
from attack, whether it be our person, our family, our property, or our opinion. A United States senator once re-
marked to a friend of mine that God Almighty could not make him change his mind on our Latin-American policy. We
may surrender, but we rarely confess ourselves conquered. In the intellectual world, at least. peace is without victo-
ry.

Few of us take the pains to study the origins of our cherished beliefs, we have a natural dislike for so doing. We
like to continue believing what we have been accustomed to accepting as true, and the resentment aroused when doubt
is cast upon our assumptions leads us to seeking every manner of excuse for clinging to them. The result is that most
of so-called reasoning consists of finding arguments for continuing to believe as we already do.

This natural and loyal support of our beliefs—this process of finding “good reasons” to justify our routine be-
liefs—is known to modem psychologists as “rationalization”, clearly a new name for a very ancient thing. Our good
reasons ordinarily have no value in promoting honest enlightenment, because, no matter how solemnly they may be ar-
ranged, they are at bottom the result of personal preference or prejudice, and not of an honest desire to seek or accept
new knowledge.

In our dreams, we are frequently engaged in self-justification, for we cannot bear to think ourselves wrong; yet
we have constant illustrations of our weaknesses and mistakes. So we spend much time finding fault with circum-
stances and the conduct of others, and shifting onto them with great skill the burden of our own failures and disap-
pointments. Rationalization is the self-exculpation which occurs when we feel ourselves, or our group, accused of
misunderstanding or error.

21. The author cites the senator’s remark in order to show that

A. the senator is extremely stubborn

B. self-esteem is dear to us all

C. people should be more open-minded

D. one is reluctant to admit his defeat
22. Rationalization is likely to occur when

A. our weaknesses are exposed
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B. our assumptions turn out to be rational

C. we are absorbing new ideas

D. we are wronged by others
23. The author indicates in the passage that

A. we should not care too much about our beliefs

B. it is by no means easy to defend one’s self-esteem

C. it is worthwhile to find good reasons for our assumptions

D. it is human nature to defend his beliefs
24. From the context, the word “self-exculpation” most probably means “

A. self-justification

B. self-esteem

C. self-examination

D. self-expression
25. Which of the following can NOT be inferred from the passage?

A. In the intellectual field, success belongs to those who defend their own beliefs.

B. One may solemnly arrange his reasons for the sake of truth.

C. A new idea may not be accepted because of people’ routine beliefs.

D. When accused of error, one may shift his responsibilities onto others.

Questions 26 to 30 are based on the following passage:

A useful definition of an air pollutant is a compound added directly or indirectly by humans to the atmosphere in
such quantities as to affect humans, animals, vegetation, or materials adversely. Air pollution requires a very flexible
definition that permits continuous change. When the first air pollution laws were established in England in the four-
teenth century, air pollutants were limited to compounds that could be seen or smelled—a far cry from the extensive
list of harmful substances known today. As technology has developed and knowledge of the health aspects of various
chemicals has increased, the list of air pollutants has lengthened. In the future, even water vapor might be considered
an air pollutant under certain conditions.

Many of the more important air pollutants, such as sulfur oxides, carbon monoxide, and nitrogen oxides, are
found in nature. As the Earth developed, the concentrations of these pollutants were altered by various chemical reac-
tions; they became components in biogeochemical cycles. These serve as an air purification scheme by allowing the
compounds to move from the air to the water or soil. On a global basis, nature’s output of these compounds dwarfs
that resulting from human activities. However, human production usually occurs in a localized area, such as a city.

In this localized region, human output may be dominant and may temporarily overload the natural purification
scheme of the cycles. The result is an increased concentration of noxious (4 # i ) chemicals in the air. The concen-
trations at which the adverse effect appear will be greater than the concentrations that the pollutants would have in the
absence of human activities. The actual concentration need not be large for a substance to be a pollutant; in fact the
numerical value tells us little until we know how much of an increase this represents over the concentration that would
occur naturally in the area. For example, sulfur dioxide has detectable health effects at 0. 08 parts per million
(ppm), which is about 400 times its natural level. Carbon monoxide, however, has natural level of 0.1 ppm and is
not usually a pollutant until its level reaches about 15 ppm.

26. The passage is mainly about .

A. the serious impact of air pollution

B. what constitutes an air pollutant

C. how much harm air pollutants can cause
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D. the effects of compounds added to the atmosphere
27. It can be inferred from the first paragraph that .

A. water vapor is an air pollutant in localized areas

B. most air pollutants today can be seen or smelled

C. the definition of air pollution will continue to change

D. a substance becomes an air pollutant only in cities
28. Natural pollutants can play an important role in controlling air pollution because

A. they function as part of a purification process
B. they occur in greater quantities than other pollutants
C. they are less harmful to living beings than are other pollutants
D. they have existed since the Earth developed
29. According to the passage, which of the following is true about human-generated air pollution in localized regions?

A. Tt can be dwarfed by nature’s output of pollutants in the localized region.

B. It can overwhelm the natural system that removes pollutants.

C. It will damage areas outside of the localized regions.

D. It will react harmfully with naturally occurring pollutants.

30. According to the passage, the numerical value of the concentration level of a substance is only useful if

A. it is in a localized area

B. it can be calculated quickly

C. the naturally occurring level is also known

D. the other substances in the area are known
Questions 31 to 35 are based on the following passage:

In general, our society is becoming one of giant enterprises directed by a bureaucratic management in which man
becomes a small, well-oiled cog in the machinery. The oiling is done with higher wages, well-ventilated factories and
piped music, and by psychologists and “human-relations” experts; yet all this oiling does not alter the fact that man
has become powerless, that he does not whole-heartedly participate in his work and that he is bored with it. In fact,
the blue-and the white-collar workers have become economic puppets (1% ff# ) who dance to the tune of automated ma-
chines and bureaucratic management .

The workers and employees are anxious, not only because they might find themselves out of a job; they are anx-
ious also because they are unable to acquire any real satisfaction or interest in life. They live and die without ever
having confronted the fundamental realities of human existence as emotionally and intellectually independent and pro-
ductive human beings.

Those higher up on the social ladder are no less anxious. Their lives are no less empty than those of their subor-
dinates. They are even more insecure in some respects. They are in a highly competitive race. To be promoted or to
fall behind is not a matter of salary but even more a matter of self-respect. When they apply for their first job, they
are tested for intelligence as well as for the right mixture of submission and independence. From that moment on they
are tested again and again—by the psychologists, for whom testing is a big business, and by their superiors, who
judge their behavior, sociability, capacity to get along, etc. This constant need to prove that one is as good as or bet-
ter than one’s fellow-competitor creates constant anxiety and stress, the very causes of unhappiness and illness.

Am I suggesting that we should return to the preindustrial mode of production or to nineteenth century “free en-
terprise” capitalism? Certainly not. Problems are never solved by returning to a stage which one has already outgrown.
I suggest transforming our social system from a bureaucratically managed industrialism in which maximal production

and consumption are ends in themselves into a humanist industrialism in which man and full development of his poten-
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tialities—those of love and of reason—are the aims of all social arrangements. Production and consumption should
serve only as means to this end, and should be prevented from ruling man.
31. By saying “a well-oiled cog in the machinery” (Sentence 1, Para.l), the author means that

A. man is integral to the machinery of the society

B. man works in complete harmony with the rest of the society

C. man has lost independence in the industrialized society

D. the function of man is negligible in the industrialized society
32. Which of the following does NOT account for the anxiety of the workers and employees?

A. That they are likely to lose their job

B. That they have no genuine satisfaction or interest in life

C. That they are faced with the fundamental realities of human existence

D. That they are deprived of their independence and creativity
33. It can be inferred from the passage that real happiness of life belongs to those who .

A. are at the bottom of the society

B. are higher up in their social status

C. prove better than their fellow-competitors

D. are not involved in fierce competitions
34. To solve the present social problems, the author suggests that we should

A. employ our ancestors’ mode of production

B. transform our social system into capitalism

C. enable man to bring his potentials into full play

D. manage to achieve maximal production and consumption
35. The author’s attitude towards the bureaucratically managed industrialism is

A. favorable B. suspicious

C. tolerant D. disapproving
Questions 36 to 40 are based on the following passage:

The newspaper must provide for the reader the facts, unprejudiced, objectively selected facts. But in these days
of complex news it must provide more; it must supply interpretation, the meaning of the facts. This is the most impor-
tant assignment confronting American journalism — to make clear to the reader the problems of the day, to make in-
ternational news understandable as community news, to recognize that there is no longer such thing (with the possible
exception of society news) as “local” news, because any event in the international area has local reaction in the fi-
nancial market, political circles, in terms, indeed, of our very way of life.

There is in journalism a widespread view that when you consider giving an interpretation, you are entering dan-
gerous waters, the swirling (T/E) tides of opinion. This is nonsense.

The opponents of interpretation insist that the writer and the editor shall confine himself to the “facts”. This in-
sistence raises two questions. What are the facts? And are the bare facts enough?

As for the first question, consider how a so-called “factual” story comes about. The reporter collects, say, fifty
facts; out of these fifty, his space being necessarily restricted, he selects the ten which he considers most important.
This is Judgement Number One. Then he or his editor decides which of these ten facts shall constitute the beginning
of the article. (This is an important decision because many readers do not proceed beyond the first paragraph.) This
is Judgement Number Two. Then the night editor determines whether the article shall be presented on page one,
where it has a.large influence, or on page twenty-four, where it has litter. Judgement Number Three.

Thus in the presentation of a so-called “factual” or “objective” étory, at least three judgements are involved.
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And they are judgements not at all unlike those involved in interpretation, in which reporter and editor, calling upon
their research resources, their general backgrounds, and their “news neutralism” , arrive at a conclusion as to the sig-
nificance of the news.

The two areas of judgement, presentation of the news and its interpretation, are both objective rather than sub-
jective processes — as objective that is as many human beings can be. (Even though complete objectivity can never
be achieved, nevertheless the ideal must always be the light in the murky news channels.) If an editor is intent on
giving a prejudiced view of the news, he can do it in other ways and more effectively than by interpretation. He can
do it by the selection of those facts that support his particular viewpoint. Or he can do it by the play he gives a sto-
ry— promoting it to page one or putting it on page thirty.

36. The topic discussed in the passageis .

A. objectivity and subjectivity

B. interpretation of the news

C. a journalist’s dilemma

D. journalists’ new assignment
37. It can be leamed from the passage that to write a factual story,

A. the writer must use judgement

B. the reporter should confine himself to facts

C. the writer must give a detailed account of the story

D. the editor should control what the reporter writes y
38. In the author’s opinion, interpretation of the news can be objective because

A. it is based on facts

B. “news neutralism” is involved in interpretation

C. it is the most important assignment of journalists

D. objectivity is the prime concem of the newspaper
39. It can be concluded from the passage that the most important aspect of the news is that it should be _ .

A. interpreted in detail

B. objectively presented

C. properly edited

D. promptly reported
40. Which of the following statements is NOT true?

A. The judgements involved in interpretation are similar to those of presentation.

B. The editor may give a prejudiced view of the news by promoting it to page one.

C. There is no longer any such thing as “local” news because the world is getting smaller.

D. The writer should attach importance to the beginning of the article because many readers may easily give up

reading.

Part [ Vocabulary ( 20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A, B,
C and D. Choose the ONE that best completes the sentence. Then mark the corresponding letter on the Answer Sheet
with a single line through the centre.
41. Every aircraft undergoes the most __ mechanical inspection before takeoff.

A. rigorous B. judicial

C. provocative D. sophisticated
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43.

45.

47.

48.

49.

50.

51.

52.

33.

55.

56.
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I am not questioning the _ of his argument.
A. validity B. honesty
C. sincerity D. sensitivity
This was nothing compared with that __ case, in which seven people had been convicted of fraud.
A. vicious B. gigantic
C. notorious D. prominent
. We tried to make a success of the business, but were ___ by difficulties at every tum.
A. intruded B. flustered
C. plagued D. surmounted
Adpvice to investors was based on the  that interest rates would continue to fall.
A. condition B. premise
C. argument D. proposition
. We mustn’t underestimate the ______ of the problem we face.
A. scope B. volume
C. dimension D. magnitude
by the suppressing atmosphere, | dared not raise a protest against working overtime.
A. Overwhelmed B. Preoccupied
C. Embarrassed D. Dominated
He described her as an inspired writer, which is indeed a _ coming from such a great poet.
A. implement B. complement
C. compliment D. supplement
The energy which the sun radiates goes in every direction, and only a _ part of it falls on the earth.
A. minor B. minute
C. miniature D. minimum
I've never __the theory that people are more important than animals.
A. adhered to B. ascribed to
C. subscribed to D. subjected to
You should not ____ against anybody on the grounds of his or her color, race, sex or religion.
A. distinguish B. prejudice
C. prosecute D. discriminate |
Learning poetry and literature by heart when your memory is young pays _ in later life. i
A. patent B. heritage |
C. mortgage D. dividend
He drank too much, and neglected his wife and children, and was, _ a disgrace to the village.
A. in particular B. in addition
C. in general D. in effect
. She was ___ for four hours at the police station for questioning.
A. contained B. retained
C. detained D. maintained
I should made a few ______ inquires about the firm before you sign anything.
A. concrete B. discreet
C. discrete D. legitimate
The __ of white light seemed to illuminate the whole countryside for an instant.
:




57.

58.

59.

61.

62.

63.

65.

67.

68.

69.
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A. flash B. glory
C. flare D. glare
We shall ensure that the building work will cause minimum __ to readers using the library.
A. resistance B. limitation
C. diversion D. disturbance
The professor had to explain the profound theory ina __ language because of the audience’ s poor knowledge
in this field.
A. credible B. luminous
C. tentative D. reciprocal
When he had to speak to her, he found his courage suddenly  him.
A. vanished B. isolated
C. exiled D. deserted
. The power of a grain of wheat to grow into a plant remains if it is not planted.
A. latent B. inherent
C. coherent D. permanent
Light  will be available during the interval.
A. meal B. drinks
C. food D. refreshments
human behavior may be caused by eating substances that upset the delicate chemical balance in the
brain.
A. Trregular B. Abnormal
C. Inconsistent D. Deliberate
The police finally _ information from the criminal after hours of questioning.
A. expired B. exempted
C. extracted D. expended
. The police can not enter these houses without a search
A. license B. passport
C. certificate D. warrant
Students learning about how life began on earth may be presented with the __ question, “Which came first,
the chicken or the egg?”
A. provoking B. perplexing
C. penetrating D. permeating
. The present disputes were _______ off by a rumor that some workers are to lose their jobs.
A. triggered B. flattered
C. uttered D. murmured
At night villagers could hear wolves _ moumfully in the nearby forest.
A. howling B. barking
C. growling D. roaring
His name is on the _____ of my tongue, but I just couldn’t remember it.
A. point B. tip
C. top D. edge
These medical conditions can often cure themselves ~ , without medical intervention.

A. spontaneously B. simultaneously
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C. instantaneously D. homogeneously

70. Applicants for the typist’s job will be judged _ accuracy as well as speed.
A. by means of B. by virtue of
C. in terms of D. in response to

Part IV Error Correction (15 Minutes)

Directions: This part consists of a short passage. In this passage, there are altogether 10 mistakes, one in each num-
bered line. You may have to add a word, cross out a word, or change a word. If you add a word, put an insertion
mark (/A ) in the right place and write the missing word in the blank. If you cross a word, put a slash (/) in the
blank. If you change a word, cross it out and write the correct word in the corresponding blank .

Example:
Television is rapidiy becoming the literatures of our _periods. Many of 1. time
the arguments __having  used for the study of literature as a school sub- 2. /
ject are valid for A\ study of television. 3. _ the
What is the nature of the scientific attitude, the attitude of the man
or woman who studies and applies physics, chemistry or another science?
We all know that science plays an important role in the societies
which we live. Many people believe, however, that our progress depends 71.
on two different aspects of science. The first of these is application of the 72.
machines and products that scientists and technologists develop. New
drugs, faster and safer means of transport, new systems of applied
knowledges are some examples of this aspect of science. 73.
The second aspect is the application of the special methods of
thought and action that scientists use in its work. 74.
Which are these special methods of thinking and acting? First of all, 75.
it seems that a successful scientist is full of curiosity—he wants to find
out how and why the universe works. He rarely directs his attention to- 76.
wards problems which he notices has no satisfactory explanation, and his 77.
curiosity makes him look for underlying relationships even if the data
available seem to be connected. Moreover, he thinks he can improve the 78.
existing conditions, whether of pure or applying knowledge, and enjoys 79.
trying to solve the problems which involves. 80.

Part V Writing (30 Minutes)

Directions: For this part, you are allowed thirty minutes to write a composition on the topic The Internet and Our
Life. You should write at least 120 words, and base your composition on the outline (given in Chinese) below:

1. 4R 28 AT AR b4k
2. P I o R AR 2 [l
3. AR A0 A A R AR R
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Part I Listening Comprehension ( 20 points )
1.A 2.D 3.D 4.A 5.B 6.A 7.A 8. A 9.B 10.C 11.D 12.B 13. B 14. A 15.

A

16.B 17.C 18.B 19.D 20.D

Part II Reading comprehension ( 40 points )

21.

22,

23.

25.

26.

27.

28.

29.

30.

31.

(D) ABEEGFEWSMELR. EEASWUANAFREHAESHWS. F—-BPEERS R
T TAETE B S st B I8 AN, T — LR AT A R A5 32 B0 SE s Pk A, IRAVE A ¥k i . B4R, FF
ARFE X S A R ZEE, MR B 23 T B, RATKA S & D ay s 1K 5
RMBGE AP RN B S FKITWREA . ROTHM &S E RN A

(A) AR rationalization — R FRAR . SCHEE = BEEE — 40 B M SO0 A B3R 3R]
A R SR . SCRERSE R ATZESE STA0 R, 3 % R I B IR Y 773K,

(D) B RAEE WS EEFECERZRER 4D B SIS RN —F R, CERE RSP
AR RE] RN E R EMFEIRNC L I PR Z WA, 10 25 A A B ATH R R L B BE T, 3o
&R AR Ik FHRAE O 4P X i A8 .

. (A) ABEE self-justification, self-exculpation, rationalization =~ Z [B] )3 & . M _EF 3CA] LAWY

X =AMARGR T AR F9EE, B A FeRHP B BOT SR,

(B) ABUZHERTRL, 00 A.C.D J&IEMHEM, LETT A SHESCH S — B —): In the intellectual
world, at least, peace is without victory. peace Fl victory A H 5| H X, I C SR CEH B, F &
M RBGEE R - RATE R BERMNEA WE, 71— BA AHEE, RATS i F 348 h 45X
SEIRA . PRI D S CESS WUELSS —A], “So we spend---shifting onto them with great skills the burden of
our failures and disappointments.” X B them 51 others,

(B) ARUREFE B/, CEIF KRN 2 S5 R —Fh € 328 5 e A3 B el 1 HE i 2
RPN —HMREY, AR —E R G , 23 AK S MU R A BIE R BEE1EETES
B =B Re T R E IR S AN E IR

(C) BHB—BUE RN 2 KI5 Y8 SRR IE W AW E L . B E B i & & LA B X 2 F b 2 1
A RN, B A S KIS RYRAE T, ¥k A£—ENEGT , B2 KEIESBOARR
ERIEHEY .

(A) U A0 1910, S B4 v AR ) B BA SR AR N . SCESE —BOR B 72 A AR A RE SR B3 4N
Aem, — AL, AEMY FIF S EEENS T RY) . HE RN &R, X 215 R Y K E
A ARl A R RO s BT (— BB S R AR5 Yo ) U A Y 3 B AL - T R RO A R o T X L1
R Rz St R, FREDNE G iE B K s 3. HE KRR SRR E G RAE
BAERRR A e i R —ER 5

(B) ABURM T, =Bk MEERE : AE R TR XU, A2 1 0075 Y9l RE o = S F 2
BT I R AR A 8 A % 8 1 £, 8 A 45 SR = U A R B A Tk BE 3

(C) ABURHENIE, CES =B =& AEFIRB: ARG R, RT8A A AR E G
PRI . BRI R T5 3, HLIPRuk B3 AT K S6Pr b, RA SRATAERE R RS
T — X I AT BE 7= A 0 RAR TR B (9 B I BUE A B . BT DAHE BT . B[R] A E B B R AR
W, — T BB A A T L

(C) AHE T X CFH — BN AR, B —Bfa —a& Rl FL L, BES5adIAES
WA B B Sh AL RS R Er R S SO F Y it R S P R TR R . R R IRATT AT AR RPEE A A
Ttk 25 7 HIE R S ERSE , B 1 B B A




32.

33.

34.

35.

36.

37.

38.

39.

A¥RENNFEBHBEEE

(C) AR, CEH B IRRNT TA SR 5™ A AR OG5 26 A 0 A 1 A 2%
B . M T7E— A b B HAE T X A AR A B, Oy 15185 AR B S i A s

TN,

(D) AR RHEWT, CEE =Bl )a— A URRAT: ZAWHEN B © M55 3 F—4F st
i1, AR RS Bk, ER S BURERE SER R E . BT DU A 808 ABEE 4 1
PN == 1

(C) AR TR, (EHTES MBS MOZFEERA AL SRR A LUE R BB Tl fert =
BAR N WA BR R Dt ——FE AR RE R AL & B, A AT 0 2 4 R I At =16 s 9 B
o

(D) ABRASEB ., EEXNIA W TSNS SCES 0B AE& PR DUE R
Ty 2B Tl At S B e A AR 7 5 0 B Ak B (LA 7 5T 20 RO SR BT 0 iX —
HARAR 55, AL ESE N

(B) AR ERH, EEEXR CFEF BIREN interpretation of the news #i¥F, #5H interpretation of
the news 5B K H 2 WL R AL

(A) AW B CEMFEIN BB DS — R4 EHRE R, 7002 F AW, PRt R BN A,
SESCE ATk F BAER RSB Y, (L EE I AITRE . PRI A AT SRR

(B) CE S A B4R AL T FIWT MR I8 10 & 78 MR . U6 B — U B IRI i, 625158 3l) “ their research re-
sources, their general background, and their ‘news neutralism’” . P& 7 8] ) 2 37 25 B AT LA interpretation
of the news FR-4F 5 W .

(B) XE&G—BAE S R UL AL 7RI RYE . A 4 xS i % MR A AT RE A , {ELIX AP BEAE 5] 38T
HECSEEEEE-SVN P38

. (C) &I AB.D &SR IEMA . BEI A S8 SCESE HESE /) : “ And they are judgements not at all unlike

those involved in interpretation. ” W & RN H . I B S8 L E S5 M) i ol LIEIEFE, 41
— DS T Sk R SR 30 A, AT A BILALL B R 4 o 80T D 2 B 56 DU B A& 5 R A . 1B C B U
B, AR —BERE—ANNE, BB X,

Part III Vocabulary ( 15 points )

41.

42.
43.

45.

46.

47.

(A) FER: B WIE CZRT, HEISYRPPBAE . rigorous 140K, B ; judicial ¥R,
AJ¥E Y 5 provocative 5| ARG+ , PRI ; sophisticated & T H# , E A,

(A) AR I EEMAE S ERTE . validity 380 f# 8 AR T, 4 : the term of validity A %CHH .
(C) HER : SAMA L ABHTERTE R ZEH I RBIHELL, XEHEA T H Ao notorious R ZZ4HY,
B AIRFER ; vicious JEFEA, XA, U1 a vicious attack YETFERI T gigantic B K, JE K5 promi-
nent & M, R

- (C) BER BATAEBBX EAERE, BERICHE N 2SS TP EMER . plague ITH , JK ; intrude

RALATHE ; fluster 85N, fEHETK ; surmount TEAR (JLHE HXE) o

(B) BB N A TFTHRREENBVUEETF) BRYEE T X — 5 HATHEK) . premise Aii#, on the premise
of /that+- (IEFC)FE -+ Bi$2F ; condition 214 ,on/upon condition that+-+FE+-+++- ZF, 0111 come on
condition that John is invited too. argument i 5%, , 3 H ; proposition $E1 , F 7K,

(D) MEN AN ARBMAAERMNEIE R B EZEM, magnitude HE M, &, 41 : the magnitude of cur-
rency FLILER ; scope B AN AR BN (TE B GEMASER) O IR , CRIERE 109 A, Hlas CRRTED) , 40 - be
within (beyond) the scope of sb’s understanding; volume 25 & , 3 & ; dimension U, R BE, U0 : of three di-
mensions 3K

(A) FIFA X ) 9 4 L (0 3R B B R 4 A% , A B R B TAE$R BT o overwhelm il Al , 2]
W AT s S 255 R E B B BRE, /R 2R, B W BN " 5% 5 preoceupy F T 813N,




